www.das-bastelteam.de ->Ldsungen: Teilermenge Blatt Nr.:524
Zahl geht max. bis 100.

To = {1,211, 22}

Ta = {1,31}

T2 = {1,7,11,77}

T = {1,2, 3,4,6,8,9,12, 18, 24, 36, 72 }
Tos = {1,23}

To = {1,3,9}

Teg = {1,2,4,7,8,14, 28,56}
Tz = {1,13}

Tos = {1,2,3,4,6,8,12, 24}
Te = {1,23,6)}

Teg = {1,59}

Tos = {1,2, 7,14, 49,98}
Tos = {1,2, 47,94}

Tso = {1,2, 5,10, 25, 50}
Tes = {1,5,17,85)}

Teo = {1,2,4,13,26, 52}
T = {1,2,7, 14}

Tez = {1,67}
T.0 = {1,2,5,7,10, 14, 35,70 }
Tsz3 = {1,53}
Tgg = {1,89}

Teo = {1,2 4,58, 10, 16, 20, 40, 80 }
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